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Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any five questions of the following:

I1x5=5

@-F oo am Teq e ¢

a)

b)

Are geometrical propositions analytic or

synthetic?
wyififes Ipaele R O Ao

Which of the following words is either

precise or vague?
Toa Wwefera @G E A R o @T—

Five, Slow

A5, A
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d)

Convert the following figurative statement

into a simple statement as possible:

S S gp\

Efiiie wemie A w=we A Feie
FT—

Life is but a dream.
G0 2 (@ (O |

Do you consider the following statements to

be occurrent or dispositional or both?

A3 eme ML (@FvCe AHA S &S]
w2l Ty (GIHE SEd SR ?

1) I feel drowsy.
9y ol (@Y |

11) Diamond is a precious thing.
B0 GG T T |

Distinguish between denotation and

connotation.

Jield ¢ arepces W 2N 1|

Is the following proposition analytic?
e A0 6 R

Fishes live in water.

e et AP |
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g)

h)

Put quotation mark in proper place:
RRICUCECEICRPEIE I
Man means the same as rational animal.

AE @R e aifg s wifeq |

Write a word which can be defined only

ostensively.

(NG ATt el (el A G 4Fio
% (&4 |

Answer any ten questions of the following:

2x10=20

@-F o arF Ted wie ¢

a)

b)

Are the things which are meaningful but not
words?

@ g =z & A odsy [5g = e

How will a phenomenalist translate the

following sentence?

OFe SRR [FeiE e Amtre sram
AN ?
The table exists in the next room.
G e < Siicz |
Distinguish between Stipulative and Reportive
definition.

AT HeEsl G2 Aferavs A Al el
4 |
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d)

State whether the two following sentences

are meaningful or meaningless:
fa Al w1l o w2 o orane ¢
1)  The number five is green.
Ao A e |
i1) He did not draw a circular square.
@1 9! JEIA I9(CFa i M|

In which of the following examples state
whether the necessary condition is causal or

logical?

e Srrmashr @b SRt <€
e N (@feF ©f [Fom w41

1)  Having three angles is a necessary

condition of being a triangle.
ol (el At @6 fagres S =18 |

i1) Presence of heat is the necessary

condition of flame.
SR Toifefe eegettTa ek *9 |

Which of the following propositions would
you consider to be laws of nature and why?

(any two): 1x2=2

fasfeifae apaefan s @mef adgfos
fFResPs @ @2 (@ @I ) 8

[4]
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g)

h)

i)  All crows in the United States are black.

FSANGT 37 P HICAl |

1)  Iron rusts when exposed to oxygen.
eI A @R A7« |

i11)  All metals are good thermal conductors.

39 4192 ©ll OIA-ALIETF |
iv) All oceans contain water.
A T &eT Bl |
1) 'He is a true friend'
i1) 'He is true to his wife'
Analyse the meaning of the word 'True' of
the above two sentences.
) 1= o g
ii) 123 oF &7 ofs 79|
THERIS ARFAR ) =46 F S T2 AR ?

What do you mean when you say a true

proposition?

T ) TS I (@R 22
What are the different types of possibility?

Give one example for each type.

TelaR ffen aaef & e el o w5
TWFe W |
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k)

D

Do you consider the following to be
occurrent states or dispositional or both?
il & W 0 @ MRy etne 9o o=,
L] TSl T GO G ARSI T F
& R ?

1)  Her face is ashem

R 2 I |
11) He is religious
G (e |
Examine whether the following sentences are
meaningful.
e Al s e fJvm 91
1)  Colour tastes bitter
w97 7 fow

1)  Snow is pink.
TP TR CaNEIN

Do the following pairs of sentences express

the same proposition? Explain.

oA @el A T ahB o o FE 2 [
e |

1)  Either you will go or I will go
ofil T w9l =ify T |
i1)  Either I will go on you will go.
oif A= S1eE oy A |
[6]



Answer any five questions: 6x5=30

- oo amg Teq ne ¢

a)

b)

d)

90(A)

Distinguish between Naive-Realism and

Representative Realism.

N TG G oAl I|AIwE ALy Fmsi
Rl

What is concept? How does it differ from
image?

Rl e efesmeas A SoyEe #iw i e
Explain with examples three sources of
vagueness.

[ SiEe] Tl fonh el TrrgaepTe il
Rl

Explain the confirmability criterion of
meaning.

EIRER PRGN ER DA TR SIS

Explain correspondence theory of truth.

What are its limitations?

Terel A SGHARM T T | G2 TSAW
Aaeiafr I Fe

Discuss whether determinism is compatible
with freedom.

fgerm FidToR Aos Aol e, SEsa
Sl

[7] [Turn over]

g) Explain Aristottle's theory of universal.
AR TS SHfRPOoET oMt iRy 4|
h) Can we define 'Philosophy'? How does
Bertrand Russell define 'Philosophy'?
SRl /93 el fee Sife Gie TieE
- 6 e eI 2
4.  Answer any three questions: 15%3=45
@~ foas esa Tew mie ¢
a) What is Representative Realism? Make an
assessment of Barkeley's criticism of this
view.
Af oA IGIM FIF A2 A G2 TS AWH @
SO AR (TSfeTs el 4 |
b) Is causal principle apriori or aposteriori?
Discuss after Hospers.
o Aife ATechra w1 s e AR
PR ©f BG4 |
c) 1) Explain and examine the verifiability
theory of meaning.
EREEIRIS RO RIS RS ER S
90(A) [8]
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d)

i1) What is the characteristics of the

statement?

I shall survive my bodily death.
10+5=15

SN I 27 SIS (& AFT— a2 AT
[SITEIIE

How is synthetic a-priori judgement possible

according to Kant?

FICoA o [Tl AFCoPra TS b 7E?

What does 'coherence' mean in the context
of coherence theory of truth? Explain and

examine the theory.
Sere! Tl FAfENW AATS Fe1ce fF (@R 2

ASTOR ST AATGAWR ARBIF SN
Rl

Discuss briefly what is meant by 'Realism'.
What are the different forms of Realism?

TEAM AT A1 9 | AR ey el
SED F9|



